ée:

WhICh number is exactly halfway between
S—and 77

.....................................................................

The area of a rectangle is 108 cm?.
The width of the rectangle is 9 cm.
What is the perimeter
of the rectangle?

.....................................................................

* What is the value of x in this diagram?

100° 150°
xo

A5 BT C 80 D 90
Which of these is in order from lowest
to highest?
2357 7235
3’4_’6’9 9'3°4°6
2375 75372
3996 D53

.....................................................................

There were 1500 tickets sold in a

competition. 40% of the tickets were blue
and the rest were green. One-third of the
blue tickets and one-quarter of the green
tickets won prizes. How many prizes were
won altogether? :

.....................................................................

Samantha is drawing a rectangle

¥ 4

1
10

o

Lo - B TR o F - ]
<o

12345678 9wiune”
She has placed points at (1, 3), (7,11)
and (11, 8). Where should she place the
final point?

A (3 BGEO €05 D50

© What is the answer to 0.4 + 0.87

Gﬁiﬁeﬁ ?l'ﬁi explahaﬂons on pagdes: 295131

A5 BS C05 DO0OS
0.25,2.5,4.75,1, .
What is the elghth number

in this pattern?

.....................................................................

What is the size of the obtuse angle
formed by the hands of this clock?

- 1
Of the 120 marbles in a jar, i are red, '3
are green and the rest are blue. What is the
chance that if one marble is taken from
the jar without looking it will be blue?

5 2 7 5
7 7 €1 Py

....................................................................

Wendy left at 6:20 am and travelled
245 km, arriving at 9:50 am. What was
her average speed?

.....................................................................

Declan used the rule ‘double the previous
number and add 3’ to work out the
numbers in his pattern. The first number
was 1. What was the
fifth number?

.....................................................................

A box of chocolates has some dark
chocolates and the rest are milk chocolates, -
The ratio of milk to dark chocolates in the.
box is 5 to 2. If there are 35 chocolates in
the box, how many more miltk chocolates
are there than dark chocolates?

- B 15 C 2

.....................................................................

The temperature at midnight was 4°C. The
temperature at 5 am was 7° colder than it
was at midnight. What was
the temperature at 5 am?

...................................................................

» The volume of a rectangular pnsm is

160 cubic centimetres. The dimensions of

another rectangular prism are half that of
the first prism. What is the volume of the
second prism?

A 20cm® B 40 em® C 60 cm® D 80 cm?
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6 'The number-of blue tickets is 40% of 1500, !
Now 10% of 1500 is 150,
S0 40% of 1500 = 4 X 150
: = 600
So there were 600 blue tickets.
Number of green tickets = 1500 — 600

1 _ _ = 900 |
Now 3 of the blue tickets won prizes.
_ 23 , , Number of prizes from blue tickets = 600 + 3
4 A | | 1 _ L, T
2 The number halfway between two others is 4 of the green tickets won prizés.’
the avelrage of thoie other numbers. Number of prizes from green tickets
: =900 + 4
— ..}.. = —
Now 52 7 1_22 =205
and 121 Iy, Y. 6—1— _ - Total prizes = 200 + 225
2 4 1 =425
So the number halfway between 55 and 7 | 7
1 e . ‘ 1
i 6 [ARRRERPARAN
'3 Area = length X width - - ‘ ;
So the length X 9 ¢m = 108 cm? ST A
Length = (108 + 9) cm ] //
=12 cm 2 . | //
Perimeter = 2 X (length + width) ‘ 1 AN
i%iglzc;;g)cm ’ 123456789101112%
— 42 cm To make a rectangle the fourth point would
4 Angles in a straight line édd o 1.8(l)°‘ need o be at (3, 0).
So the angle forming a straight line with the _ 8 04-+-08=4+8
angle of 100° is 80°, ; =05
The angle forming a straight line with the 0.5
angle of 150° is 30°. = 8)4.%0
100°\80° 305" 150° - 9 0.25,2.5,475,7, ...
x° A : 2450
. -~0.25
Angles in a triangle add to 180°. 2.25 '
So x + 80 + 30 = 180 '
x + 110 = 180 o 475
x=170 —2.50
5 The lowest common denominator is 36. 225
—i—: % (after multiplyiﬁg both numerator 122610
and denominator by 12} —4.75
3.4 (after multiplying both numerator 225 '
;L g(ﬁ) and denominator by %) ’(I:‘I;i ;il::ibg: gztﬁf}r‘easmg by 2.25 each time,
5536 (after multi;?lying both numerator 0.25,2.5,4.75,7,9.25,11.5,13.75,16,18.25, ...
and denominator by 6) . " The eighth number is 16.
% _ % (after multiplying both numerator 10 I]IJII 2ﬁ§;gg(r)°the minute hand turns
and degommator by;? 27 28 30 ‘There are 12 divisions on the clockface. ;
So, in order the fractions are 36°36’ 36" 36" | Bach division z gg? w12
This means that in order gfoéﬂ %o“gest to At 5 o’clock there are 5 divisions between the
two hands.

highest the fractions are —, -, =, =+
e 3°479°6 Angle between the hands = 5 X 30°

= 150°



11

12

13

Number of red marbles = 120 + 4

=30
Number of green marbles = 120 + 3
' =40 -
Total red and green marbles = 30 + 40
=70
Number of blue marbles = 120 — 70 -
Ch f bl ble = 0
ance of blue mar 170
=3
12

[Or, the chance of red is % and the chance of

green is %.Tﬁhe chance of red or green is

1,123 4_71
4 3 12 12 12 5
The chance of blue is 1 — 2= ﬁ'}

Distance travelled = 245 km

From 6:20 until 9:20 is 3 hours. .

From 9:20 until 9:50 is 30 minutes or — hour.
1 2

Time taken = 35 hours

Speed = 245 km in 3% h

=490 kmin7h
= 70 km/h

First number = 1
Second number =2 X1+ 3
=35
Third number =2 X 5+ 3.
=13
"Fourth number =2 X 13 + 3
=26+3
=29
Fifth number = 2 X 29 + 3
=58 +3
= 61

14

For every 5 milk chocolates there are 2 dark
chocolates,

So 5 out of every 7 chocolates are milk ones.
Now35+7=35 A '

So there are 5 lots of 7 chocolates in the box,

7 Number of milk chocolates = 5 X 5

15

: =25
Number of dark chocolates = 5 X 2
=10
Difference = 25 — 10
, =15
There are 15 more milk chocolates than dark
chocolates. _
The temperature at midnight = 4°C
If it was 4° colder the temperature would be
zero degrees.
But the temperature dropped by 7° so
it dropped another 3°. It was 3 degrees
below zero.
The temperature at 5 am was —3°C.

16 New prism is half the length, half the width
and half the height of the first one.
Number of times smaller =2 X 2 X 2

=8
New volume = (160 + 8) cm3
. = 20 cm3



